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Answer all the questions:

T ‘® (Group 'A") [3x(1+1)=6]
1 (a) 2T (CI), 94t (P), a1t 9%/ =mE (R) T 399 9% (T) & 9=
HE&Ta |

Write the relationde

5/@nd y years

AN awa’r W T Fi‘gﬂﬁ ahmﬁaait FATT Fd 575 ?

A triangle and a parallelogram are standing on the same base and

between the same parallels, what is the ratio of the area of
llelogram to the area of triangle?

feram, O 9% F=famy, PQ wftaEr T A
wefar & 97 OA T PQ fawat wvamw e |

In the given figure, O is the center of a circle,
PQ is a tangent line and A is the point of S R
contact. Write down the relation between OA P Y Q

and PQ.

https://dhanrajgurung.com/ T



RE-109'SP' 2)

T @ (Group 'B) [4x(2+2)+3x(2+2+2)=34]
; w e STEEET 2 AT 10,000 7€ 73T 12,100 T 7 TTHE
e W ? T A |

The population of a town increased from 10,000 to 12,100 in 2 years,
what is the rate of population growth? Find it.

(b) T S RRET T, 4,00,000 T P g 2 auty 10% g

- PO X A9g W Ieh SaTHeRa 2 aNurgE! el T Ae el |
/ A farmer bought a tractor for Rs. 4 00,000 and sold it after 2 years at

depreciation rate of 10% P2 find the cost of the tractor after 2 years.
5 (a) 3% Uger a3 UHS:

(//4m03?ﬁﬁ{ 7 3

O TR (Simplify):

a-b b-g

7 (a) 7 TEE (Solve): Jx’ +5=x-3 &

If the sum of two numbers i Ty ,
e 15 20 and their difference is 4, find the
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3) 5
8 @) FmT DC 1 meafamy E g | oy AT 2
A ABCD 1 8% 36 91 A, s ey )
ABCE # 7% qsr ST TRIR |
In the given figure, E is the midpoint of DC.

If the area of parallelogram ABCD s 36 A
sq.cm, find the area of quadrilatera] ABCE.

(b) fezuat fom, O quat #7fg g ) 7 AABC
qﬁ‘]}s‘fﬁﬁft)ﬂaﬁmmﬁﬂwﬁql

In the adjoining figure, O isthe.cente; e

o - -
(b) PR )= o= 16a R LY
b B wres

In a continuous series, if mean (;)= 2—-a and Lfe=3) _ l6a

number of terms (N). > ind the
10 (a) Rsmszqﬁamﬂmﬂwmmm”

AT FEADI TFFT AT TN A G TP FRT vz 9 | Sy

A card is drawn randomly from a well-shuffleq pack of

cards. What is the probability that the card drayy, is g IS Playing

or red queen. ace of Spade
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RE-109'sp! (4)
ﬁb mﬂmaﬁzﬁ3kf@3zuﬁfmmiﬁumﬁﬁ=
A T 2 sirer AeieE (RfEAT | 43 adEE S F UGS T4 qedrear
SRISHGRY
There are same size and similar balls numbered from 3 to 32 ina bag.

Two balls are drawn successively without replacement. Find the
probability of getting the both balls that are multiples of 5.

gqg ‘T (Group 'C') [10x4=40]
11) uger asmar Sua lBOmMﬂ?Omﬁthmﬁﬂ

L | ok 30 9T 3 R S 7 forr < R T

mdahemlsphem. A 1TaL 18 he Old "';}L',i.‘.i.l-","...;::-._-__ .. the
given water tank at theiaic'ofi25 paisa perliter?"F'ind 1

wm (Find the F'€
L6+ 100x2y2 + 625y*, 4x*- le"y+25xy’ 8+ 125y°
15) affa+b+ec=0 aqu ywrforer TEre (If a+b+c =0 then prove that) .

T al -h+ h] -c+ cl ~-a
14x" +X l+x" +x I+x“+x
16) ATHTE AB © AB/XY fere 9@ ama ABCD T SHTHIRIL SIS ABEF &1

G AT 7 S I IR
prove that the arca of rectangle ABCD and parallelogram ABEF are equal standing
on the same base AB and between AB/XY.
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(5) RE-109'Sp:

17) =td ABCD & 7= THe W&l AB = 4.2 #.f7., BC = 5.6 &fir
—53fr. DA=5afr, BD =652 g1 ABCD & &¥%my
YA & PO T e | 3
Construct a quadrilateral ABCD with AB = 4.2 cm, BC = 5.6 cm, CD = 5om,
DA =5 cm, BD = 6.5 cm. Construct a triangle which is equal to the quadrilatera|
ABCD in area.
18) g U3 99 MN AT A qiRr $EE LMPN 7 ZMQN FTaT &g

QORI TN | (AT 3 i, anefeame WU gERiTeT gHe® H1999E g )
Verify experimentally that the inscribed angles ZMPN and ZMQN of a circle
standing on the same arc MN are equal. (Two circles having radii at least 3 cm are

A5 fi tall personiobservcdthg (opofe (0wer ol hoioht 59 ft.Uf the distance

between the gbser ce@hdn - (ower iS50 und\evel, what will
20)
ompute il 1NE g1y on table
FUT FEWT (Age in years) )>-2( | 4() - -:", 0=801'380-100 | 100-120
[4x5=20]
21) T g et fafer 01 1 e e o freE
€8

LUSD=Rs. 11370; 1 CNY =Rs. 15.93; 1 BURO =Rs.124.04; 1 1Y =R, 1053 |

Sfeetfa fafrag 2z amaron qfveer R o
400 USD, 300 EURO, 1000 CNY 7 4000 JPY &1z Pt | arevar anfi
e Fhr .7, HAEAF T F 7 T ity 31/10/2019 51 g
lUS§-:NRs112.9SWWWWW3OOUSDH@T#WW
A% e g 7 P | 2k e 10% & s st e
mmmﬁrmmmwQﬁﬂmwmm.
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RE-109'SP' (6)
On the basis of above exchange rate, Sunil had to exchange
400 USD, 300 EURO, 1000 CNY and 4000 JPY on 01/10/2019 for foreign
visit. How much Nepali rupees needed for his visit? After the visit, Sunil
exchanged his remaining 300 USD at the rate of | USD = Rs112.95 on
31/10/2019, how much Nepali rupees did he spend in his visit? Calculate. If
Nepali currency was devaluated by 10% on 31/10/2019, how much amount
more or less would he receive? Find it.

22) uger fammET 100 4T, 120111 nso:ﬁ VETEE W& Tgel Prerere I
T wﬁlsaﬁﬁm‘wﬂ#

A farmerh .and 160 m. He
wants to ade er are required
osting Rs. 30

: cginning of 2096, 5 .. 11 SHcwilliDe wice of her daughter in
-~ age, find the b \ sar of her daughter and the age®f the mother in 2100

A
24) fe=mT, O god! &= faw 8l | 4is 919 AC =17 AB
qu, ZAOC =180° - ZBAC &5 Sl JHIIG el |
In the figure, O is centre of circle.
If arc AC = arc AB, prove that
ZAOC = 180°- ZBAC. B C
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